BUS 210, Quiz #2, Fall 2017 Name .
Section

Instructions: This quiz is to be completed entirely in class. You may
only access internet resources you are specifically directed to use. Go
file posted under Quiz #2, Use it to answer the following questions.
questions directly on this page.

t use cell phones, and you may
o Blackboard and open the data
ace your answers to the bolded

1. Create a Pivot Table of Smoking vs. Drinking. N = non, O=Occdlsional, H=heavy (S=smoker,
D=drinker). What is the number of people who are heavy drihkers? What is the number of
people who are heavy smokers? Create a column graph of thje data. What do you notice?
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2. Suppose that someone from this data set is selected at randogh. Answer the following

questions:
a. What is the probability that the person is a heavy smokej?
(443 /810l = |b.532,

b. What is the probability that the person is a heavy drinkel?
2305/80 ~ 26 97%

¢. What is the probability that the person is a heavy smok
drinker?

153 //2_?)(0‘;5 = SEJTL

d. What is the probability that the persor] is a heavy smoke

3%5/3706( = 8.57%

given that they are a heavy

and a heavy drinker?

e. What is the probability that the person is a heavy smokef or a heavy drinker?

2050/ §ol = 2AS. 16 l’/

3. Using the data for #3, create a scatterplot that examines the
(x) and acceptance race (y). What is the regression line, and |
to be linear or nan-linear? Negative or positive correlation?
would you expect the acceptance rate to be if the school enr
program?

Y= =.poO 2x -+ .35

22 = 0,238

lationship between enroliment

2 value? Does the trend appear
f the trend continued, what
lled 2000 people in their




